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NEW QUESTION 1
- (Exam Topic 1)
Which of the following Statements about macros is true? (select all that apply)

A. Arguments are defined at execution time.

B. Arguments are defined when the macro is created.

C. Argument values are used to resolve the search string at execution time.

D. Argument values are used to resolve the search string when the macro is created.

Answer: AC

NEW QUESTION 2
- (Exam Topic 1)
Which of the following eval command function is valid?

A.Int()

B. Count ()
C. Print ()

D. Tostring ()

Answer: D

NEW QUESTION 3
- (Exam Topic 1)
Which of the following searches show a valid use of macro? (Select all that apply)

A. Option A
B. Option B
C. Option C
D. Option D

Answer: AC

NEW QUESTION 4
- (Exam Topic 1)
Which of the following statements about event types is true? (select all that apply)

A. Event types can be tagged.

B. Event types must include a time range,

C. Event types categorize events based on a search.

D. Event types can be a useful method for capturing and sharing knowledge.

Answer: AC

NEW QUESTION 5
- (Exam Topic 1)
Which of the following statements describe calculated fields? (select all that apply)

A. Calculated fields can be used in the search bar.
B. Calculated fields can be based on an extracted field.
C. Calculated fields can only be applied to host and sourcetype.

D. Calculated fields are shortcuts for performing calculations using the eval command.

Answer: BD

NEW QUESTION 6
- (Exam Topic 1)
Which of the following statements is true, especially in large environments?

A. Use the scats command when you next to group events by two or more fields.
B. The stats command is faster and more efficient than the transaction command
C. The transaction command is faster and more efficient than the stats command.
D. Use the transaction command when you want to see the results of a calculation.
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Answer: B

NEW QUESTION 7
- (Exam Topic 1)

Which of the following statements describes the command below (select all that apply) sourcetype-access_combined | transaction JSESSIONID

A. An additional filed named maxspan is created.

B. An additional Held named duration is created.

C. An additional field named eventcount is created.

D. Events with the same JSESSIONID will be grouped together into a single event.

Answer: BCD

NEW QUESTION 8
- (Exam Topic 1)
Which of the following statements describes field aliases?

A. Field alias names replace the original field name.

B. Field aliases can be used in lookup file definitions.

C. Field aliases only normalize data across sources and sourcetypes.

D. Field alias names are not case sensitive when used as part of a search.

Answer: A

NEW QUESTION 9
- (Exam Topic 1)

Based on the macro definition shown below, what is the correct way to execute the macro in a search string?

A. Convert_sales (euro, €, 79)”

B. Convert_sales (euro, €, .79)

C. Convert_sales ($euro,$€$,s79%
D. Convert_sales ($euro, $€%,S,799)

Answer: B

NEW QUESTION 10
- (Exam Topic 1)
Which of the following statements about tags is true?

A. Tags are case insensitive.

B. Tags are created at index time.

C. Tags can make your data more understandable.

D. Tags are searched by using the syntax tag: : <fieldneme>

Answer: C

NEW QUESTION 10
- (Exam Topic 1)
Which of the following knowledge objects represents the output of an oval expression?

A. Eval fields

B. Calculated fields
C. Field extractions
D. Calculated lookups

Answer: C

NEW QUESTION 14
- (Exam Topic 1)
Which of the following describes the Splunk Common Information Model (CIM) add-on?

A. The CIM add-on uses machine learning to normalize data.

B. The CIM add-on contains dashboards that show how to map data.
C. The CIM add-on contains data models to help you normalize data.
D. The CIM add-on is automatically installed in a Splunk environment.
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Answer: C

NEW QUESTION 15
- (Exam Topic 1)
How does a user display a chart in stack mode?

A. By using the stack command.

B. By turning on the Use Trellis Layout option.

C. By changing Stack Mode in the Format menu.

D. You cannot display a chart in stack mode, only a timechart.

Answer: C

NEW QUESTION 17
- (Exam Topic 1)
Which of the following workflow actions can be executed from search results? (select all that apply)

A. GET

B. POST

C. LOOKUP
D. Search

Answer: ABD

NEW QUESTION 20
- (Exam Topic 1)
When should you use the transaction command instead of the scats command?

A. When you need to group on multiple values.

B. When duration is irrelevant in search result

C..

D. When you have over 1000 events in a transaction.

E. When you need to group based on start and end constraints.

Answer: C

NEW QUESTION 24
- (Exam Topic 1)
Which group of users would most likely use pivots?

A. Users

B. Architects

C. Administrators

D. Knowledge Managers

Answer: D

NEW QUESTION 26
- (Exam Topic 1)
Data model fields can be added using the Auto-Extracted method. Which of the following statements describe Auto-Extracted fields? (select all that apply)

A. Auto-Extracted fields can be hidden in Pivot.

B. Auto-Extracted fields can have their data type changed.

C. Auto-Extracted fields can be given a friendly name for use in Pivot.

D. Auto-Extracted fields can be added if they already exist in the dataset with constraints.

Answer: B

NEW QUESTION 27
- (Exam Topic 1)
When using timechart, how many fields can be listed after a by clause? ( Choose Two )

A. because timechart doesn't support using a by clause.

B. because _time is already implied as the x-axis.

C. because one field would represent the x-axis and the other would represent the y-axis.
D. There is no limit specific to timechart.

Answer: BD
NEW QUESTION 32
- (Exam Topic 1)

When performing a regular expression (regex) field extraction using the Field Extractor (FX), what happens when the require option is used?

A. The regex can no longer be edited.
B. The field being extracted will be required for all future events.
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C. The events without the required field will not display in searches.
D. Only events with the required string will be included in the extraction.

Answer: D

NEW QUESTION 33
- (Exam Topic 1)
What does the following search do?

A. Creates a table of the total count of users and split by corndogs.
B. Creates a table of the total count of mysterymeat corndogs split by user.
C. Creates a table with the count of all types of corndogs eaten split by user.

D. Creates a table that groups the total number of users by vegetarian corndogs.

Answer: A

NEW QUESTION 34
- (Exam Topic 1)
What is required for a macro to accept three arguments?

A. The macro's hame ends with (3).

B. The macro's name starts with (3).

C. The macro's argument count setting is 3 or more.

D. Nothing, all macros can accept any number of arguments.

Answer: A

NEW QUESTION 39
- (Exam Topic 1)

When using the Field Extractor (FX), which of the following delimiters will work? (select all that apply)

A. Tabs
B. Pipes
C. Colons
D. Spaces

Answer: ABD

NEW QUESTION 43
- (Exam Topic 1)
What does the transaction command do?

A. Groups a set of transactions based on time.

B. Creates a single event from a group of events.

C. Separates two events based on one or more values.

D. Returns the number of credit card transactions found in the event logs.
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Answer: B

NEW QUESTION 47
- (Exam Topic 2)
The eval command 'if' function requires the following three arguments (in order):

A. Boolean expression, result if true, result if false
B. Result if true, result if false, boolean expression
C. Result if false, result if true, boolean expression
D. Boolean expression, result if false, result if true

Answer: A

NEW QUESTION 52
- (Exam Topic 2)
The transaction command allows you to events across multiple sources

A. duplicate
B. correlate
C. persist
D. tag

Answer: B

NEW QUESTION 54
- (Exam Topic 2)
Which of the following are valid options to speed up reports? (Select all the apply.)

A. Edit permissions
B. Edit description
C. Edit acceleration
D. Edit schedule

Answer: C

NEW QUESTION 59
- (Exam Topic 2)

Using the export function, you can export search results as .( Select all that apply)
A. Xml

B. Json

C. Html

D. A php file

Answer: AB

NEW QUESTION 63
- (Exam Topic 2)
What is a limitation of searches generated by workflow actions?

A. Searches generated by workflow action cannot use macros.

B. Searches generated by workflow actions must be less than 256 characters long.

C. Searches generated by workflow action must run in the same app as the workflow action.

D. Searches generated by workflow action run with the same permissions as the user running them.

Answer: D

NEW QUESTION 64
- (Exam Topic 2)
Which of the following statements describes the use of the Filed Extractor (FX)?

A. The Field Extractor automatically extracts all field at search time.

B. The Field Extractor uses PERL to extract field from the raw events.

C. Field extracted using the Extracted persist as knowledge objects.

D. Fields extracted using the Field Extractor do not persist and must be defined for each search.

Answer: C

NEW QUESTION 66

- (Exam Topic 2)

Which of the following searches will show the number of categoryld used by each host?
A. Sourcetype=access_* [sum bytes by host

B. Sourcetype=access_* [stats sum(categoryl
C. by host
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D. Sourcetype=access_* |sum(bytes) by host
E. Sourcetype=access_* |stats sum by host

Answer: B

NEW QUESTION 68

- (Exam Topic 2)

These allow you to categorize events based on search terms. Select your answer.
A. Groups

B. Event Types

C. Macros

D. Tags

Answer: B

NEW QUESTION 72
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